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������ �

���
� λ ∈ R ��� � �����
��� f : R → R ��� 
�� �����
����	�-

x2 + 2x + λ ≤ f (x) ≤ 2x2 + 1 + λ�

��� ���	 x ∈ R.

$. /� 0�	�
	 
� f (1).

'. /� ���1	��	
	 �
� � f 	���� ����������"� �
� $ ���
����	� f ′ (1) = 4.

2. /� 0�	�
	 
�� 	������ 
�* 	)��
�"3��* (ε) 
�* Cf

�
� ��"	�� 
�* A(1, f (1)).

4. /� 0�	���� �� 
�"3* 
�� λ ��� 
�* ����	* � 	��	��
� (ε) 
�� 	��

"�
�* 2. ���"�
�5	� "	 
��* ����	*

������ "	 	"0�1�� ' 
".

������	�

$. ��� �� 0���"	 
� f (1) ���	� �� ��
���
��

���"	

�� 
�"
 x = 1 �
� 1��	��� �����
�
�. �� 0���"	
�
� 12 + 2 · 1 + λ ≤ f (1) ≤ 2 · 12 + 1 + λ 1���1


3 + λ ≤ f (1) ≤ 3 + λ. �+�� f (1) = 3 + λ

'. �
� �
��
�. 6 ���1	��� 
�� �
� � f 	���� �����
������"� ��� � 	��	�� 
�* �����!��� 
�* f �� ���
���� ��������*. 7��"�
�5��"	 ��!
� 
� ���� "	�


�0��
* f(x)−f(1)
x−1 
�* f �
� $. +)�����"	 ��!
� 
�

f (1) = 3 + λ ��� 
� "3�� 
�* 1��	���* �����
�
�*
��� 0������"	- x2 + 2x+ λ− f (1) ≤ f (x)− f (1) ≤
2x2 + 1 + λ − f (1) 
 x2 + 2x + λ − (3 + λ) ≤
f (x) − f (1) ≤ 2x2 + 1 + λ − (3 + λ) 1���1


x2 + 2x − 3 ≤ f (x) − f (1) ≤ 2x2 − 2

��� �� ���"�
����"	 
� f(x)−f(1)
x−1 ��3�	� �� 1����3�

���"	 "	 x − 1 �= 0. ��	�1
 1	� �3���"	 ���� 	����

� �����"� 
�� x − 1 1��������"	 1�� �	���
!�	�*-

��������	 
� x − 1 > 0 1���1
 x > 1. ��
	 ��
3���"	

x2 + 2x − 3
x − 1

≤ f (x) − f (1)
x − 1

≤ 2x2 − 2
x − 1

+������!�
�* 
� ����"�
� 0������"	 x2+2x−3
x−1 =

(x+3)(x−1)
x−1 = x + 3 ��� 2x2−2

x−1 = 2(x−1)(x+1)
x−1 =

2 (x + 1). ���"3��* 3���"	

x + 3 ≤ f (x) − f (1)
x − 1

≤ 2x + 2

,������
�* ���� ��� x → 1+ 0������"	 �
�

lim
x→1+

(x + 3) = 4, lim
x→1+

(2x + 2) = 4

+�� 
� ���

��� 
�* ���	"0��
* �������"	 �
� ��

	���� ��� lim
x→1+

f(x)−f(1)
x−1 = 4.

��������	 �� x − 1 < 0 1���1
 x < 1. �!�� 1����
���"	 "	 
�� ����
��� ����"� x − 1 ��� � �����
�
�
"�* �� �����	� )���. �� 0���"	 �
�

2x2 − 2
x − 1

≤ f (x) − f (1)
x − 1

≤ x2 + 2x − 3
x − 1

��� "	
� 
�* �������
�	�* �� 1!�	�

2 (x + 1) ≤ f (x) − f (1)
x − 1

≤ x + 3

,������
�* ���� ��

 
� )��� ��� x → 2− ��� 	�
)��"�5��
�* 
� ���

��� 
�* ���	"0��
* 0������"	

lim
x→1−

f(x)−f(1)
x−1 = 4.

+�� lim
x→1+

f(x)−f(1)
x−1 = lim

x→1−
f(x)−f(1)

x−1 = 4 ��� � f

	���� ����������"� "	 f ′ (1) = 4 .
�
� �
��
�� 8��"�5��"	 h (x) = x2 +2x+ λ ���
g (x) = 2x2 + 1 + λ. ��� ��� 
� x ����	� h (x) ≤
f (x) ≤ g (x) ��� 	��"3��* 0 ≤ f (x) − h (x) ≤
g (x)−h (x) ��� |f (x) − h (x)| ≤ |g (x) − h (x)|. ���
x �= 1 	���� |x − 1| > 0 ��� 	��"3��*

|f (x) − h (x)|
|x − 1| ≤ |g (x) − h (x)|

|x − 1|
����������	 
��� 
�����������

$



�� �� "3��* 
�* �������� ��3��* ���)	
��

���
∣∣∣ f(x)−h(x)

x−1

∣∣∣ =
∣∣∣ f(x)−f(1)−(h(x)−h(1))

x−1

∣∣∣ =∣∣∣f(x)−f(1)
x−1 − h(x)−h(1)

x−1

∣∣∣ 1��
� f (1) = h (1). �� 0� "3�
��* "	
� ��� 	����	* ����	�* ���	
�� |x − 1|. �+��

∣∣∣∣f (x) − f (1)
x − 1

− h (x) − h (1)
x − 1

∣∣∣∣ ≤ |x − 1|

+�� 
� ����

 �1��
�
� |x| ≤ A ⇔ −A ≤ x ≤ A
3���"	

− |x − 1| ≤ f (x) − f (1)
x − 1

− h (x) − h (1)
x − 1

≤ |x − 1|

���

h (x) − h (1)

x − 1
−|x − 1| ≤ f (x) − f (1)

x − 1
≤ h (x) − h (1)

x − 1
+|x − 1|

�8
�� x → 1 3���"	 h(x)−h(1)
x−1 → h′ (1) = 4 �)��

h′ (x) = 2x + 2 ��� |x − 1| → 0. �� �� "3��* ���

� �� "3��* 
�* 1���
* �����
�
�* 3���� ��� x → 1
���� 
� 4. ���"3��* � f 	���� �����9����"� �
� $

��� ����	� f ′ (1) = lim
x→1

f(x)−f(1)
x−1 = 4.

������ ��* ���
�	�* : ��� ; �	��1� ''$ 
�� ����
����� 0�0����.

2. �)��"�5��
�* 
� ����
� 
��� ��� "�* 1��	� 
�� 	�
������ 	)��
�"3��* 0������"	 �
� ��

 �� 	���� y−
f (1) = f ′ (1) (x − 1) 1���1
 y−(3 + λ) = 4 (x − 1).
�+�� � 	������ 	)��
�"3��* 	���� y = 4x + λ − 1 .

4. �� ��"	�� ��� � 	)��
�"3�� 
3"�	� 
��* ����	* 0���
����
�� �3
��
�* �
�� 	������ y = 4x + λ − 1
1��1����� y = 0� x = 0. �� 0���"	 
� ��"	��
K

(
1
4 − 1

4λ, 0
)
��� Λ (0, λ − 1). �� 
������ ��� ����

"�
�5	� � ε "	 
��* ����	* 	���� 
� OKΛ.

�� 	"0�1�� 
�� "���	� �� ���������	� "	 1�� 
���
���*-
�
� �
��
� �� OKΛ 	���� �����!��� "	 ���	�

	* ��	��3* OK ��� OΛ. �� 	"0�1�� 
�� 	����
1
2 · OK · OΛ ���� 
� "
�� OK ��� OΛ 	���� ��� "	∣∣1
4 − 1

4λ
∣∣ ��� |λ − 1|. ���"3��* ��3�	� �� ����	�

1
2

∣∣ 1
4 − 1

4λ
∣∣ · |λ − 1| = 2. 6 	������ ��

 ���)	
��

1
8 (λ − 1)2 = 2 ��� �����
�* 
�� 0�����"	 λ = −3

��� λ = 5

���	���� ����� ����!1	* �� �����"	 �����
	*

�"3* ��� �� 3���"	 
� "
��. �� 1

4 − 1
4λ ��� λ − 1

	���� 	
	����"�.
�
� �
��
� #�����"	 �� �����"����
���"	 
�
����
� 
��� "	 
�� ���5���� ���
	 
� 	"0�1�� 	����
1
2

∣∣∣det
(−−→
OK,

−→
OΛ

)∣∣∣ 1���1

1
2

∣∣∣∣
∣∣∣∣

1
4 − 1

4λ 0
0 λ − 1

∣∣∣∣
∣∣∣∣ =

1
2

∣∣∣∣−1
4

(λ − 1)2
∣∣∣∣ =

1
8

(λ − 1)2

�� ��
��
���"	 �
�� �1�� 	������ "	 ���� ��� 030���
�
�* �1�	* 
�"3* 
�� λ.

������ �

���
� � �����
���

f (z) =
1 − iz

z − i

"	 z ∈ C − {i}.
7�"0���5��"	 "	 +� <� #� #� 
�* 	����	* �
� "���1���
	���	1� 
�� "���1��!� ����"!� i,−i, z, f (z) ��
��
����*.

$. /� ���1	��	
	 �
� ��� ���	 z ∈ C − {i}-

=�>? &���	�

f (z) = −i +
2

z − i

=0>? �� ����"	�� 
�� "��!� +# ��� <#� 	���� �
��
�	��.

'. 7
�* �������	* �	���
!�	�* �� 0�	�
	 
�� �	�"	
���
�� 
��� 
�� #�. 7	 ���	 �	���
��� �� 	�	
��	
	
�� ���	 ��"	�� 
�* ���""
* ��� �� ���)3�	
	 �
��
����
��� ��* 	���� ��� ��"	�� 
�� 
����.

=�>? +� 
� ��"	�� # ��
�	� �
�� ����� "	 �3�
��

� ��"	�� + ��� ��
��� 4 .

=0>? +� � z− i 	���� "� "�1	����* ����"�
���* �����
"�*.

������	�

$. =�>? 6 ���1	��
3� 	�����	�	
�� "	 ���� 3�	���-
f (z) = −i+ 2

z−i ⇔ 1−iz
z−i = −i+ 2

z−i ⇔ 1−iz =
−i (z − i) + 2 ⇔ 1 − iz = 1 − iz =����	�?

=0>? 6 ����
��� 
�� 	������ 1�� "���1��!� ��
���"!� 	���� 
� "3
�� 
�* 1��)���* 
�� 1��
� "���1��!� =� �	��� 1	� ���5	� ����?. ��
��
AM = |i − z| ��� BM′ = |−i − f (z)|. +����
���!�
�* 
� �������"	�� 	�!
�"� 0������"	

BM ′ = |−i − f (z)| =
∣∣∣−i −

(
−i + 2

z−i

)∣∣∣ =∣∣∣− 2
z−i

∣∣∣ = 2
|z−i| . ���"3��*

AM · BM′ = |i − z| · 2
|z − i| = 2

'



'. =�>? �
� �
��
�� �� ��"	�� M ��
�	� �
�� ���
��� "	 �3�
�� + ��� ��
��� 4 �� ��� "��� ��
AM = 4. +��� AM · BM′ = 2 	��"3��* ��
	���� AM = 4 �� ��� "��� �� AM = 2

BM′ = 4
1���1
 �� ��� "��� �� BM′ = 1

2 ���1���"� ��

� M′ ��
�	� �
�� ����� "	 �3�
�� B ��
��� 1

2 .
@��� 
�� ���1���"�!� � 5�
��"	��* �	�"	
���
��* 
���* 	���� ��������* � �����*

(
B, 1

2

)
.

�
� �
��
�� 7
�� ��!
� 
���� �����"��
���
��"	 
� 	�!
�"� $.=0�?. #���	� 
� ����
0��"� �� ���	� ��� ��
�
	�!*. A3���"	 �
�
|z − i| = 4 ��� 5�
�"	 
�� �	�"	
���� 
��� 
��
w = f (z) = 1−iz

z−i . ����� w = 1−iz
z−i , z �= i ⇔

z (w + i) = iw + 1, z �= i ⇔ z = iw+1
w+i , w �=

−i. +� 
!�� 	���� |z − i| = 4 
�
	 ��)��!*
	���� z �= i ��� w �= −i ��� ���"� |z − i| =
4 ⇔

∣∣∣ iw+1
w+i − i

∣∣∣ = 4 ⇔
∣∣∣ iw+1−i(w+i)

w+i

∣∣∣ = 4 ⇔∣∣∣ 2
w+i

∣∣∣ = 4 ⇔ 2
|w+i| = 4 ⇔ |w + i| = 1

2 . 6 
	�

�	�
��� ��3�� "�* �����)��	� �
� |w − (−i)| =
1
2 ��� 	��"3��* ��
�
���"	 ���� �
� ��"�3���
�"� �
� � 
���* 
�� M′ 	���� � �����*

(
B′, 1

2

)
=��������* ���� 
�� ���1���"�!�? .

|z-i|=4

A

B
|z+i|=1/2

=0>? �
� �
��
�� ����� f (z) = −i + 2
z−i . +� �

z − i 	���� "� "�1	����* ����"�
���* 
�
	 ���
� 2

z−i 	���� "� "�1	����* ����"�
���* ����"�*.

+� 1	 t = 2
z−i ��� � z − i "	
�0���	
�� �
� R∗


�
	 ��� � t = 2
z−i "	
�0��	
�� �	 ��� 
� R∗.

���"3��* 	���� f (z) = −i + t� t ∈ R∗. �+�� �

	
"�"3�� 
�* 	����� 
�� M′ 	���� "� "�1	����*
����"�
���* ��� � 
	
��"3�� �$. �+�� 
� M′ ��
�
�	� �
�� 	��	�� y = −1 ��� 
�� ����� 3�	�
	����	�	� 
� ��"	�� 
�* B.
�
� �
��
�� ����� z − i ∈ R∗. ��
� ���
�
������ �� 	���� z − i = z − i. +�� 
�� 1	�
	��

���� 
�� �������"3��� 	��

"�
�* 3���"	 "	
w = f (z) �
� z = iw+1

w+i ��� w �= −i. +�� 
��

��3�� z − i = z− i ��
������
!�
�* 0������"	

�
� �� ����	� iw+1
w+i − i = iw+1

w+i − i. +�� 
��

�������� ��3�� 0������"	
(

2
w+i

)
= 2

w+i ���

	��"3��* w + i = w + i 1���1
 w̄ − w = 2i.
+�� 
� ��3�� ��

 ������
	� �
� Im(z) = −1
��� 
� ��"	�� M′ ��� ��
��
���	� �
� w ��
�	�
�
�� 	��	�� y = −1. +)�� w �= −i ��� 
��
	��	�� ��

 �� 	����	�	� 
� ��
��
���� ��"	��
��� 	���� 
� <.

������ �

���
� ���	�
* �����
��� f : R → R 
3
��� !�
	

f2 (x) − 2xf (x) = 1

��� ���	 x ∈ R ��� ��� 
�� ����� 	���� f (0) > 0.

$. /� 0�	�
	 
�� f .

'. /� ���1	��	
	 �
� � f 	���� ��
��
�39�"� ��� �� 0�	�
	

�� f−1.

2. /� ����1�����	
	 
� 	�1�* "���
����* 
�* f−1.

4. /� ���1	��	
	 �
� ��� ���	 x ∈ R ����	�
f (x) f (−x) = 1.

:. /� ���1	��	
	 �
� ��(
α +

√
1 + α2

) (
−β −

√
1 + β2

)
= −1


�
	 �� ����	� α + β = 0.

������	�

$. �
� �
��
�� ���
� 
��!� ����"�
���* ����"�*
x. ��� ��
�� 
�� x �� ����	� f2 (x)− 2xf (x) = 1 ⇔
f2 (x)−2xf (x)+x2 = 1+x2 ⇔ (f (x) − x)2 = 1+x2

��� 	��"3��* ��� 
�� 
	�	�
��� ���
�
� 
 �� 	���� 

f (x) − x =

√
1 + x2 	�
	 f (x) − x =

√
1 + x2. ���

	��"3��* ������� 
�� x �� 	����-

• 
 f (x) = x +
√

1 + x2

• 	�
	 f (x) = x −√
1 + x2

 	� �3���"	 �"�* ���	 )��� ��� 3�� x ����* 
���*
	)��"�5	
��. +� 1	� �����"����
���"	 ���� ����	�
�� ���� "��� 
� �
� f2 (x) − 2xf (x) = 1 	�13�	
��
��� ���� x �� ����	� �
� f (x) = x +

√
1 + x2 ���

��� ���� �
� f (x) = x −√
1 + x2. 6 ����	�� �"�*

f2 (x)−2xf (x) = 1 "�* �����)��	� �
� � f 1	� 3�	�
��5	*. ,���"�
� �� ���
	�	� �
� ��� ������ x ����	�
f (x) = 0 
�
	 �� 3���"	 �
� 02 − 2x · 0 = 1 ����"�
�1���
�. 6 f 1	� 3�	� ��5	* ��� 	���� "�� ���	�
* ���
���
��� ����"3�� �	 ��������� 
� R = (−∞, +∞).
���"3��* �� 1��
��	� �
��	�� �����"� 1���1


• 
 �� 	���� f (x) > 0 ��� ��� 
� x

• 	�
	 �� 	���� f (x) < 0 ��� ��� 
� x

6 	����3�� ����	�� �
� f (0) > 0 "�* �1��	� �
�
��"�3���"� �
� �� ��3�	� f (x) > 0 ��� ��� 
� x.
#	 ��
� 
� �
���	�� "�����"	 �� �����	����"	 
��

��� f (x) = x−√

1 + x2 1��
� 1��	� ����
��3* 
�"3*

�
�� f . ,���"�
�
√

1 + x2 >
√

x2 = |x| ≥ x ���
	��"3��* x−√

1 + x2 < 0. �+�� 
	���� � 
���* 
�*

f 	���� f (x) = x +
√

1 + x2 .

2



'. �
� �
��
�� ��� 1��3� x 5�
�"	 
� f (x) ��� "���
���"	 �� 
� 1��"	 !* ������ �����
� f (x) = y.
�� 	���� y2 − 2xy = 1 1���1
 y2 − 2xy − 1 = 0.
�����"	 "�� 1	�
	��0��"�� 	������ �* ���* x. ���
�����"	 ��� 0������"	 f (x) = y = x +

√
1 + x2 


f (x) = y = x − √
1 + x2. ��
���� 	���	���"�
����

���"	 ���* �
�� �������"	�� 
����.

2. �
� �
��
�� +� 3���"	 0�	� 
�� 
��� 
�* f "���
���"	 �� 	���)������"	 �
� � f 	���� ��
��
�39�"�-

=�>?  	�����
�* �
� 	���� $�$-
f (x1) = f (x2) ⇒ x1 +

√
1 + x2

1 =
x2 +

√
1 + x2

2 ⇒ x1 − x2 =√
1 + x2

2 − √
1 + x2

1 ⇒(x1 − x2)
2 =(√

1 + x2
2 −

√
1 + x2

1

)2

⇒ x2
1 − 2x1x2 + x2

2 =

2 + x2
2 + x2

1 − 2
√

1 + x2
2

√
1 + x2

1⇒ x1x2 +
1 =

√
1 + x2

2

√
1 + x2

1 ⇒ (x1x2 + 1)2 =(
1 + x2

2

) (
1 + x2

1

) ⇒ x2
1x

2
2 + 2x1x2 + 1 =

1+x2
1+x2

2+x2
1x

2
2 ⇒ (x1 − x2)

2 = 0 ⇒ x1 = x2

=0>?  	�����
�* ��!
� �
� 	���� ������* "���
���
����	���"3�� ������* ������� �����"����!��

�* ����"�
� ���� 	�� 
�� �����
�*� �3���"	
��� 
� #���"�
��� �	���
* ,��1	��*. �����

f ′ (x) = x+
√

1+x2√
1+x2 > x+

√
x2√

1+x2 = x+|x|√
1+x2 ≥ 0 ���

	��"3��* f ′ (x) > 0 ��� � f 	���� ������* ���
�����

7
� ���3�	�� "�����"	 �� "����"	 
�� 
��� 
�*
��
��
��)�* �����
�* 
�� 
��� y = x +

√
1 + x2

�* ���* x. �� 0���"	 x = y2−1
2y ��� 	��"3��*

f−1 (x) = x2−1
2x . ������ ���� "�����"	 �� "�����

"	 
�� f−1 ��� 
�� f2 (x)−2xf (x) = 1 ��� ���)	
��
y2 − 2xy − 1 = 0 ��� "�* 1��	� 
� �1�� ���
	�3�"�
�
�� �����"	 �* ���* x.
�
� �
��
�� +� 1	� 3���"	 0�	� 
�� 
��� 
�*
f 
 
�� 3���"	 0�	� ���� 1	� �3���"	 �� 
�� ���
��"����
���"	 "�����"	 �� 	���)������"	 �
� � f
	���� $�$ ����3
��
�* �
� f (x1) = f (x2). ���

	 �)�� f2 (x1) − 2x1f (x1) = 1 = f2 (x2) −
2x2f (x2) �� 3���"	 −2x1f (x1) = −2x2f (x1) 1��
��1
 x1f (x1) = x2f (x1). ,���3���
�* �
� � ��3�
�� f2 (x1) − 2x1f (x1) = 1 "�* 	���)���5	� �
� 
�
f (x1) 1	 "���	� �� 	���� ( �������!�
�* 0������"	
x1 = x2. 8 
���* 
�* f−1 0���	
�� ���* ���� ���

�� y2 − 2xy − 1 = 0.

4. +�	���
�
� ��� 
� �� 3���"	 0�	� 
�� 
��� 
�* f
�
���5�"	��� �
� �������"	�� 	�!
�"� "�����"	
�� 3���"	 �* 1	1�"3�� �
� � f 	���� ��
��
�39�"�

��� �� 0���"	 f−1 (x) = x2−1
2x . 6 f �����	� "��

�� �	
��3* 
�"3*. 6 "���
���� 
�* "���	� �� 0�	�
�	� �)	��* ��� 
�� ����"�- +� 0 < x1 < x2 
�
	
f−1 (x1) − f−1 (x2) = 1

2 (x1x2 + 1) x1−x2
x1x2

< 0. �+��
f−1 (x1) < f−1 (x2) ��� � f−1 	���� ������* ������
��.

:. �
� �
��
�� B����"����!�
�* 
�� 
��� 
�* f -

f (x) f (−x) =
(
x +

√
1 + x2

) (
−x +

√
1 + (−x)2

)
=

(
x +

√
1 + x2

) (−x +
√

1 + x2
)

=
√

1 + x2
2 − x2 =

1
�
� �
��
�� B���* 
�� 
��� 
�* f ���!* ����
��"����!�
�* 
�� �����
 ����	�� �
� f2 (x) −
2xf (x) = 1 ��� 
�� ����

���� �
� � f �����
�	� �	
��3* 
�"3*. 8��"�5��"	 y1 = f (x) ���
y2 = f (−x). &���	� y2

1−2xy1 = 1 ��� y2
2+2xy2 = 1.

@����
�* 
�* ��3�	�* ��
3* �* ���* x 0�������

"	 x = y2
1−1
2y1

��� x = − y2
2−1
2y2
. �+�� y2

1−1
2y1

=

− y2
2−1
2y2

⇒ 2y2

(
y2
1 − 1

)
+ 2y1

(
y2
2 − 1

)
= 0 ⇒

2 (y1 + y2) (y1y2 − 1) = 0 ⇒(y1+y2>0) y1y2 = 1.

;. �1! �	
���
��� �� �3���"	 ���� 	���� � f . ���

���"	
(
α +

√
1 + α2

) (
−β − √

1 + β2
)

= −1 ⇒(
α +

√
1 + α2

) (
β +

√
1 + β2

)
= 1⇒ f (α) f (β) =

1 ⇒ f (α) = 1
f(β) ⇒ f (α) = 1

1
f(−β)

⇒ f (α) =

f (−β) ⇒ α = −β ⇒ α + β = 0 ���� �����"���
�
��"	 �
� � f 	���� $�$.
	�����	� �� 
	�	�
��� 	�!
�"� "���3� ��
���1	���	� ��� ��
�
	�!* !* ������ ��� 	"���
	�
�
�� ��� 
�* +� @��	���.

������ ��� ������ % �	�. '(( 
�� 0�0���� ��� 
��
������ ''$ ��� 
� )����1�� CD8��� ��� 7��3�	�� 7�����


�	��EE.

������ �

���
� f : [α, β] → R "�� ���	�
* �����
��� 
3
��� !�
	

f (α) = f (β) = 0

��� f (x) > 0 ��� ���	 x ∈ (α, β).

$. /� ���1	��	
	 �
� ��� ���	 5	���* 1��)��	
��!� ���
"	��� A, B 
�* Cf �����	� ��"	�� Γ 
�* Cf 
3
���
!�
	 AΓ = BΓ.

'. ���
� x0 ∈ (α, β) -

=�>? /� ���1	��	
	 �
� ��� ���	 �	
��� ����"� c "	
c < f (x0) � 	������

f (x) = c

3�	� 1�� 
�������
�� ���	�* �
� (α, β).
=0>? /� ���1	��	
	 �
� �� � 	������ f (x) = f (x0)

3�	� ����0!* "�� ���� �
� (α, β) 
�
	

lim
x→x0

f (x)
f (x) − f (x0)

= −∞

������	�

$. ���
� A (x1, f (x1)) ��� B (x2, f (x2)). �3���"	 ��
���1	����"	 �
� �����	� ��"	�� Γ (x, f (x)) ��� ����
�3�	� ��� 
� A, B.

4



+��	� � 	������
√

(x1 − x)2 + (f (x1) − f (x))2 =√
(x2 − x)2 + (f (x2) − f (x))2 
 ���1���"� �

(x1 − x)2 + (f (x1) − f (x))2 = (x2 − x)2 +
(f (x2) − f (x))2 �� 3�	� ����. �	����"	 
� ���	�

�����
��� h (x) = (x1 − x)2 + (f (x1) − f (x))2 −
(x2 − x)2 − (f (x2) − f (x))2 ��� ���	� �� 1	��
���"	 �
� 3�	� ��5�. +)�� A, B 	���� 1��)��
�	
��� �� 	���� x1 �= x2. �����"	 h (x1) =
−

[
(x2 − x1)

2 + (f (x2) − f (x1))
2
]

< 0 ���

h (x2) = (x1 − x2)
2 + (f (x1) − f (x2))

2 > 0 	���
"3��* ��� 
� �	!��"� 
�� Bolzano � h �� 3�	� "��

�������
�� ��5� �
� 1���
�"� "	 ���� x1, x2.

'. =�>? 6 f �
� 1���
�"� [α, x0] �����	� ������� 
�*

�"3* f (α) = 0 ��� f (x0).

��	�1
 0 < c < f (x0) ��� 
� �	!��"� 	�1���
"	��* 
�"
* ��� � c 	���� 
�"
 
�* f 1���1
 ��
�����	� x1 "	 α < x1 < x0 !�
	 f (x1) = c.
����	���"�
����!�
�* "	 
�� �1�� 
���� �����
���"	 �
� �����	� x2 !�
	 x0 < x2 < β ���
f (x2) = c. 6 f (x) = c ������ 3�	� 
�������
�
�� 1�� ��5	* x1 < x2.

=0>? 7
� �������"	�� 	�!
�"� ��
� ��� ���1	���"	
������
��� 	���� �
� �� ������* �	
���* ����"�
c 	���� "����
	��* ��� "�� 
�"
 
* f 
�
	 � 	�
������ f (x) = c 3�	� 1�� 
�������
�� ���	�*.
+� ������ ��"0���	� � 	������ f (x) = f (x0)
�� 3�	� "�� "��� ���� =��� )���� �� 	���� � x0?
� �	
���* ����"�* f (x0) 1	 "���	� �� 	���� "��
���
	��* ��� ������ 
�"
 
�* f . F+�� ��� ���

� x �� 	���� f (x) ≤ f (x0) ��� 
� ���� �� ��
���	� "��� �
�� x = x0. 7��	�!* ��� x �= x0

	���� f (x) − f (x0) < 0. ���"3��* �)�� ����
���	�	��* 
�* f 	���� lim

x→x0
f (x) = f (x0) > 0

��� lim
x→x0

1
f(x)−f(x0)

= lim
y→0−

1
y = −∞ 3���"	

�
� lim
x→x0

f(x)
f(x)−f(x0)

= lim
x→x0

f (x) 1
f(x)−f(x0)

=
−∞.

:


